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231 BEEE - FIMFEBEZBFREE-E2EXR 15 - FEXR3F

BEEFE 108 BERER 1 F 106 BERER 3 F
2l + [l m + Tl m
1. BESEHE — 0.00%
2. HiEHE — 0.00%
3. R - Kiff - T2 - BB — 0.00%
4. MIREWE — 0.00%
5. RAER - EmPBEE — 0.00%
6. BEIRIEE — 0.00%
T |7 EXEYEERE — 0.00%
% 8. Ei RIS — 60.00%
= |o. SEAMBE — 0.00%
R (10 DECEEEE — 20.00%
11.1THH B SH 4 — 0.00%
2. AHEHLE — 0.00%
13. 3 5 Bzl #REE — 20.00%
14 BA R ERFEEE — 0.00%
15. 9K 73] B2 5 S e 32 45 — 0.00%
16.8)% * EREAHZ R — 0.00%
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SEBFE 104 BEFEFEERS F
2| E+
1 B8 bk M 0.00%
2. WERTAIRNE 0.00%
3. BliEE 28.57%
4. BHRMREHEE 0.00%
5. FKIER TR R 0.00%
6. EEIEHE 0.00%
7. MBRRBEE 0.00%
8. EWRERME 0.00%
2 |0 EEREHRHE 0.00%
g{ 10. 4R - HERUE - EIERDENREE 0.00%
i 1. SRR IREE 0.00%
12.RENEZE 0.00%
13 5% - RBREREE 28.57%
14 ZIBIRIE 0.00%
15 AHTHRER - BHMktERS 0.00%
16. ¥ B% 28.57%
17 BER R R e TR E 0.00%
18. 31l - 4888 RN IRTS 2 0.00%
10, E fth PR 7S 2 14.29%
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BEWLE BEEWRIE FEEEWSE
T Bt 2+ et + fEt
a8 - 8P - KEtE — — — 0.00% 0.00%
& - BP9 - KEELISMEZR — — — 0.00% 0.00%
AEM — — — 0.00% 0.00%
{EHai 3t FEM — — — 0.00% 0.00%
2 | w9 BRM — — — 0.00% 0.00%
6= — — — 0.00% 0.00%
el — — — 0.00% 0.00%
EEPL — — — 0.00% 0.00%
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2 B4 [l m B+ Bt B+ Tl m
1. #I¥h =% 22,000 TTAF — — — 0.00% — 0.00%
2. #IFN=%% 22,001 JTE 25,000 JT — — — 0.00% — 0.00%
3. #9Fh =% 25,001 7o = 28,000 7T — — — 0.00% — 14.29%
4. ¥IFHE=¥E 28,001 7T E 31,000 TT — — — 0.00% — 0.00%
5. #9%T =% 31,001 7o = 34,000 7T — — — 0.00% — 0.00%
6. #IFT=%% 34,001 JTZE 37,000 7T — — — 0.00% — 0.00%
7. #)%1=%% 37,001 JTE 40,000 7T — — — 0.00% — 0.00%
(8. HIFE=HE 40,001 JTZE 43,000 7T — — — 20.00% — 14.29%
19|9. #IFE=HE 43,001 JTE 46,000 JT — — — 0.00% — 14.29%
£5|10.495 =% 46,001 JTE 49,000 7T — — — 0.00% — 0.00%
B|11.49% =% 49,001 75 % 52,000 JT — — — 0.00% — 14.29%
|12 £9F7 =% 52,001 7T E 55,000 7T — — — 20.00% — 0.00%
E|13.49¥7 =% 55,001 7o E 60,000 7T — — — 0.00% — 0.00%
14. 495 =%% 60,001 JTZE 65,000 7T — — — 40.00% — 14.29%
15. 9% =%% 65,001 JTZE 70,000 JT — — — 0.00% — 0.00%
16.£9%1 =% 70,001 JTZE 75,000 7T — — — 0.00% — 14.29%
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21.#9Fn=%% 95,001 JTZE 100,000 JT — — — 0.00% — 0.00%
22.#9FF = %% 100,001 JTE 110,000 7T — — — 0.00% — 0.00%
23.#49F = %% 110,001 75 = 120,000 JT — — — 0.00% — 0.00%
24.#9FF = %% 120,001 75 ZE 130,000 7T — — — 0.00% — 0.00%
25.49%1=%% 130,001 7T = 140,000 7T — — — 0.00% — 0.00%
26.£9F7 = %% 140,001 75 Z 150,000 7T — — — 0.00% — 0.00%
27.#%1=%% 150,001 7T E 170,000 7T — — — 0.00% — 0.00%
28.#9FF = %% 170,001 75 Z 190,000 7T — — — 0.00% — 0.00%
29. #4951 =%% 190,001 7T = 210,000 7T — — — 0.00% — 0.00%
30.49 T =% 210,001 Tt k£ — — — 0.00% — 0.00%
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